] ' ]

8

1

3

o Inverse functions
e Logarithmic functions
o Exponential functions

e Inverse trig functions
e Hyperbolic functions
e Integration by parts
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o Integration of powers and products of trig functi

Test 2 Review
(Continued from Friday)

o Logarithmic differentiation 7.1-9.2

o Exponential growth and decay (word

LXpon ¢ GCCay

Addition Problems: See the homework,

examples given in the class notes, questions

from poppers, questions from EMCFs,
questions in online quizzes, review
problems and videos posted from the

lectures page, and questions given on

Friday quizzes.
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Inverse trigonometric functions
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Example: f(x)=arcsin(ln(x)} Find the domainand give the tangent

lineat thepoint wher x = Je.
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Hyperbolic functions
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Example: Solve cosh(x)-2sinh(x)=0. o
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Example: Differentiate f (x) = sinh(x + ln(x)).
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Integration by parts
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Integration of powers and products.of trig functions
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Example: Compute J-sﬂf(x)cbr_ = g(‘ml/ﬂ\jd\)‘

;j(i’ L s @A o

- g (ﬁ - Losl +§fcasl(2)<\\ dx
. 4

— _&q % - J:’sm/zx\ + ’ng‘é; * ?/Q"S ["Nsd‘)(
Ay A 4 L e+ C
= %x %@N(w\ R

N\ [N

. /7
[ PN honat -
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Example: Compute jtan3 (x)secg(x)dx.
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Example: Compute Itanz(x)secs(x)dx.
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